MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

Ny =

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

Mitsubishi Plastics Composites America, Inc.

401 Volvo Parkway

Chesapeake, VA 23320

Scorr:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “Alpolic and Alpolic/FR “ Composite Wall Panel Systems with 5/8” Plywood Substrate

APPROVAL DOCUMENT: Drawing No. 1-P, titled “Alpolic and Alpolic/fr Composite Wall Panel Systems”,
sheets 1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., dated 11/11/02, last revision #1, dated
09/01/09, signed and sealed by Robert A. Walz, P.E., bearing the Miami-Dade County Product Control Revision
stamp with the Notice of Acceptance number and expiration date by Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each panel shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.
TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.
INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.
This NOA revises NOA # 06-0531.13 and consists of this page 1, evidence submitted pages E-1 & E-2 as well as
approval document mentioned above.
The submitted documentation was reviewed by Helmy A. Makar, P.E., M.S.
}/ / M\/ NOA No. 09-0923.04
’ Expiration Date: 08/09/2011
Approval Date: 12/02/2009
’L/°L/2°°q Page 1




Mitsubishi Plastics Composites America, Inc.

[y

[

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 00-0315.06

DRAWINGS

1. Drawing No. 1, titled “Alpolic and Alpolic/FR Composite Wall Panel Systems”,
prepared by C. W. Stater, P.E., dated April 16, 1999, last revision #1 dated February
13, 2001, sheets 1 through 5 of 5, signed and sealed by C. W. Stater, P.E.

TESTS

1. Test report on Small Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air Pressure Test on Alpolic and Alpolic/FR Composite Wall Panel Systems,
prepared by Architectural Testing Inc., Report No. 01-35789.02, dated 05/31/00,
signed and sealed by Allen Reeves, P.E.

2. Test report on Ignition Properties, prepared by Southwest Research Institute, Report
No. 01-8361-038, dated 10/28/96, signed by Betty J. Covey and Alex B. Wenzel.

3. Test report on Flame Spread Index and Smoke Developed Index, prepared by
Southwest Research Institute, Report No. 01-8361-320d, dated 09/18/97, signed by
Anthony L. Sauceda and Alex B. Wenzel.

CALCULATIONS

1. Calculations titled “Structural Calculations for Composite Panel System”, pages 1
through 22 of 22, dated April 13, 2000, prepared by C. W. Stater, P.E., signed and
sealed by C. W. Stater, P.E.

MATERIAL CERTIFICATIONS

1. Spec. Data issued by Alcoa Mill Products, dated November 08, 2000, with chemical
composition and mechanical properties of Aluminum Alloy 3105-H14.

2. Tensile Test Report No 01-35789.03, prepared by Architectural Testing, dated July
07, 2000, signed and sealed by Allen N. Reeves, P.E.

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 03-0130.07

DRAWINGS

1. Drawing No. 1-P, titled “ Alpolic and Alpolic/fr Composite Wall Panel Systems ",
sheets 1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., dated
November 11, 2002, signed and sealed by Christopher W. Stater, P.E.,

TESTS

1. Test report on Small Missile Impact Test, Cyclic Wind Pressure Test, and Uniform
Static Air Pressure Test on Alpolic and Alpolic/FR Composite Wall Panel Systems,
prepared by Architectural Testing Inc., Report No. 01-43055.01, dated January 07,

2003, signed and sealed by Joseph A. Reed, P.E.

&ﬁelmy A. Makar, P.E., M..S.
Senior Product Control Examiner
NOA No. 09-0923.04

Expiration Date: 08/09/2011
Approval Date: 12/02/2009



Mitsubishi Plastics Composites America, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

C. CALCULATIONS
1. None.

D. MATERIAL CERTIFICATIONS
1. Tensile Test Report No 01-43055.02, prepared by Architectural Testing, dated
March 04, 2003, signed and sealed by Joseph A. Reed, P.E.

3. EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL #06-0531.13
A. DRAWINGS

1. None.
B. TESTS

1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1. By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. I-P, titled “Alpolic and Alpolic/fr Composite Wall Panel Systems”, sheets
1 through 10 of 10, prepared by Mitsubishi Chemical America, Inc., dated 11/11/02,
last revision #1, dated 09/01/09, signed and sealed by Robert A. Walz,P.E. on 09/18/09.

> =

B. TESTS
1. None.

C. CALCULATIONS
1. None.

D. QUALITY ASSURANCE
1 By Miami-Dade County Building Code Compliance Office.

E. MATERIAL CERTIFICATIONS
1. None.

Yol e~

CAlelmy A. Makar, P.E., M.S.
Senior Product Control Examiner
NOA No. 09-0923.04

Expiration Date: 08/09/2011
Approval Date: 12/02/2009




ALPOLIC and ALPOLIC/FR (FIRE RATED)
COMPOSITE WALL PANEL SYSTEMS FOR

FLORIDA BUILDING CODE

GENERAL NOTES

THESE ALPOLIC AND ALPOLIC/FR COMPOSITE PANELS SHALL BE USED FOR WALL CONSTRUCTION,
SOFITS, AND OTHER EXTERIOR DETAILS WHOSE REQUIREMENTS FOR POSITIVE AND NEGATIVE
PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL
PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM
REQUIRED SPECIFICATIONS

2. THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE + 70 PSF/-90 PSF.

MATERIAL SPECIFICATIONS:

3. THESE ALPOLIC and APLOLIC/fr COMPOSITE WALL PANEL SYSTEMS ARE TESTED

IN ACCORDANCE WITH THE FOLLOWING PROTOCOLS:
TAS-202-94, UNIFORM STATIC AIR PRESSURE TEST
TAS-203-94, CYCLIC WIND PRESSURE TEST

AND THEY SHALL BE INSTALLED ON FRONT OF A 5/8" (5 PLY) PLYWOOD SUBSTRATE

SUPPORTED BY STUDS AT 16" O.C. AS SHOWN IN THESE APPROVED DRAWINGS.

ALUMINUM EXTRUSIONS

1. MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER. (By Kistler McDougall)

2. MATERIAL: CAY-1009 TEE, CAY-1010 FEMALE, CAY-1011 MALE, CAY-1012 STIFFENER AND CAY-1013 RETAINER ARE
EXTRUDED ALUMINUM ALLOY 6063 WITHA T6 TEMPER  (By CAY ARCHITECTURAL PRODUCTS)

3. FINISH: MILL FINISH

COMPOSITE PANEL

ALPOLIC ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157") AND 6MM THICK (0.236")
AS MANUFACTURED BY MITSUBISHI CHEMICAL AMERICA, INC., CHESAPEAKE, VA

2. ALPOLICHr éFIRE RATED) ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157"
AS MANUFACTURED BY MITSUBISHI CHEMICAL FUNCTIONAL PRODUCTS, INC., UEDA, JAPAN

3. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS
PERFORMANCE CHARACTERISTICS SPECIFIED.

4. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY

5. FINISH: LUMIFLON-BASE FLUROPOLYMER RESIN COATING.

6.  MAXIMUM DIMENSIONS: 62" WIDE X 288" LONG

7. TECHNICAL DATA
DESCRIPTION TEST 4MM ALPOLIC RESULTS 4MM ALPOLIC/r RESULTS
SPECIFIC GRAVITY 1.38 1.90
WEIGHT 1.12 LB/SQ.FT 1.56 LB/SQ.FT
TENSILE STRENGTH ASTM E-8 7452 PSl 5693 PSI
YIELD STRENGTH ASTM E-8 NDY NDY
ELONGATION ASTM E-8 16% 8%
PUNCHING SHEAR RESISTANCE (1"'DIA) ASTM D-732 4025 PSI 4637 PSI
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PSI 2259 Pl
BOND INTEGRITY VERTICAL PULL ASTM C-297 1806 PSI 427 PSI
DRUM PEEL ASTM D-1781-76  33.6 IN-LB/N 27.6 IN-LB/IN
FLATWISE SHEAR ASTM C-273 1225 PSI 949 PSI
RATE OF BURNING ASTM D-635 CC1 -
FLAME SPREAD INDEX ASTM E-84 00 00
SMOKE DEVELOPED INDEX ASTM E-84 00 10
SELF IGNITION TEMPERATURE ASTM D-1929 752°F 837°F
FLASH IGNITION TEMPERATURE ASTM D-1929 716°F 811°F
SURFACE FLAMMABILITY ASTM E-108-88 PASSED PASSED
SOUND TRANSMISSION ASTM E-413 STC-26 -

FRAMING & ACCESSORIES

1. STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MIN. PROPERTIES OF 50 KSI YIELD, 65 KSI ULTIMATE.

2. STUD & TRACK FASTENERS: #12 x 1-1/2" HEX WASHER HEAD TRAXX 3 BUILDEX SCREW.

3. PLYWOOD: 5/8" THICK, (5 PLY) EXTERIOR GRADE SECURED WITH #8 x 1 5/8" BIULDEX SCREWS
AT 16" O.C. AROUND PERIMETER AND IN THE MIDDLE OF PLYWOQD.

4. PANEL FASTENERS: #10x 1" HEX WASHER HEAD TEK SCREWS SPACED AT 16" O.C.

5. STIFFENER FASTENERS: #10x 1" HEXWASHER HEAD TEK SCREWS.

6. JOINT SILICONE: DOW CORNING #795 SILICONE SEALANT.

7. STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.

8. BACKER ROD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.

©

PRODUCT REVISED
as complying with the Florida
Buiiding Code

Acceptance No 04 - 0423%.o0
Expiration Date@8 /09 /2.0

Miami DadeFroduct Control
Divigion

THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL

FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT CONTROL APPROVAL

* AND IT SHALL BE REVIEWED BY THE STRUCTURAL PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHE!
TOLERANCES ARE:

CONTRACT NO.

MITSUBISHI CHEMICAL AMERICA, INC.

g] - FRACTIONS  DECMALS  ANGLES
~\\ Tm XXt tm

/).
EF Xxx ¥ 005
Yt I RN =

APPROVALS

DATE

FINISH

TH

9/01/0% | &N NITE | VAS TR WALL CONSTUCTION ONLY"

DRAWN

ENGINEERING

MS

1111/02

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEMS

PROJMGMT

BY

PRODUCTION

—
SIZE | CAGE CODE DWG NO. REV

1-P l 1

SCALE | Jsweer 1 OF 10

DATE CHANGE DO NOT SCALE DRAWING




11/2"

15'-0 1/2"
FRAME OUTSIDE DIMENSION

14'-9 1/2"

FRAME INSIDE DIMENSION

12'

1/2"

1/2

PANEL DIMENSION

—~Kistler McDougall

LMITSUBISHI CHEMICAL AMERICA, INC.

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEN

DWG NO.

CAGE CODE

SIZE

OF

2

[ steeT

SCALE_ SHOWN]

A

CONTRACT NO,

A

DATE

/

1111002

A

APPROVALS

DRAWN

ENGINZERIHG

Ms

PROMBMT

PRODUCTION

005

DECIMALS Lo N —— il

JX t 0t ot n

KXX &

FRACTIONS
132

4MM & 6MM ALPOLIC
& 4MM ALPOLICHr

MATERIAL

FINISH

DO NOT SCALE DRAWING

xpiration Date @
Fodnct Contro!

-

as complying with the Florida
i Da

FRODUCT REVISED
Building Cods
Acceptenice No

E
Division

By
Mi

PANEL DIMENSION

—

fet—

-

ADDITIONAL STUD
AT PANEL JOINT

o

STIFFENER

Ho o e e e e

@ OPPOSITE

\ZZXG - 16 GA. METAL STUDS
@ 16" 0.C.
G

11/2°

1/2°

P’
NOISN3WIJ T3Nvd

.-*I.F

L/l

NOISN3WIC
=~ T13NvVd

R
NOISNIWIQ 3AISNI JAvY4

Jd

/)

A4

£/ 6-6

NOISN3WIQ 3QISIN0 INWYA

/L

.2/} 8-5

THE WOOD BUCK FRAME DETAILED IN THIS DRAWIN
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

PANEL ELEVATION

3/4" = 10"




15'-0 1/2"

WO0D BUCK FRAME

CONNECT WOOD BUCK FRAME TOGETHER
WITH (3) 5/16" DIA. LAG BOLTS
EACH CORNER (TYP.) ) , ) i
11/2 14'-9 1/2"  METAL STUD FRAME DIMENSION 11/2
w 6" 16 GA. GALV. METAL TRACK ADD A STUD AT 2 x 10 WOOD BUCK FRAME
= N\ TYPICAL TOP & BOTIOM / PANEL JOINT LOCATION /— AROUND OUTSIDE PERIMETER
N\ /
LY z : :
L/ | |
1 | I
| |
& | I
< @ | |
= =
& = ¥ | |
gl ¢ =|g | |
@ = NI = | I
S - ”1® | |
= = | |
. 2 ‘ EDGE OF |
N L ) PLYWOOD |
? | |
o N R N 1 R 6 R I N A N SR 1 A B R N 1l B I 1 | |
o |
- o
“’ S8 |
7|5 |
— a
|
: /
]/
1 5/8" N
—_— _;I_] 9 1/2" 11_4n 11_411 1|_4n 11_4n 11_411 11_411 11_411 1»_411 11_4n 11_411 8"
1 1 1 | j 1 i 1 1
CENTERLINE DIM.
2'-7 3/4" (TYP.)
6" x 1-5/8" 16 GA THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
CALY. MEHL STUDS ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.
50 KSI YIELD (TYP.)
0w
S *
~ ~
: : STUD FRAMING ELEVATION ) e
L 61/ 34 =107 PRODUCT REVISED spsedelies™ ™09 0\ L MITSUBISHI CHEMICAL AMERICA, INC.
as complying with the Florida FRACTIONS DEGMALS  ANALES T
" Building Cod: £ e APFROVAL ATE
15/8 STEEL TRACK AcceptnceNo9- 0423 04 | e L TR L7 ALPOLIC and ALPOLIC/fr
Expiption Datc08/0 /2.01] | JIIMIR"  |reese—————! COMPOSITE WALL PANEL SYSTEMS
METAL STUD et PROJ MGMT SIZE § CAGE CODE DWG NO. W

Division

B

DO NOT SCALE DRAWING

PRODUCTION

1-P 1

SCALE

I

Jsiest 3 OF 10




#12 X 1 1/2" HWH WOOD SCREW
016" 0.C. TO MAIN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16™ DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

ATTACH EACH STUD TO TRACK
W/ $12 x 1 1/2" HWH
TRAXX 3 BUILDEX SCREWS
TWO (2) EA. SIDE

—?__

410 X 17 HWH TEK SCREW—/
16" 0.C. TYPICAL EACH PANEL
4MM OR 6MM ALPOLIC—/

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE

N

e

\

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

2 1/4

PANEL

HS EXTRUDED ALUMINUM
PANEL STIFFENER

ANNERAN

A2 ALUMINUM
EXTRUSION

= 1

DOW-CORNING #1199 -/

SILICONE SEALANT

HR EXTRUDED ALUMINUM/

PANEL STIFFENER

letmn 2 1/4" MIN, —~

MIN.
e 6" X 16 GA.
GALV. STEEL STUD
16" 0.C.
\U SCALE: 6" = 1
5/8" — (5 PLY) PLYWOOD FASTENED
/ TO STUDS
/ w/ #8” x 1 5/8" BUILDEX
/ SCREWS @ 16" 0.C.
|
#12 x 1 1/2" HWH TEK SPACE
16" 0.C. (FASTEN TO STUDS)
ﬁﬂmmm
% U A —— PLASTIC SHIM SPACE
/ (AS REQUIRED)
/ s 6" X 16 GA.
GALV. STEEL STUD
16" 0.C.
-

/"2°\ STIFFENER DETAIL

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND {S NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

MIN.

#10 x 1° HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

2 /4 ___ |

Ti

——

laet—
]

1/2" )
L b
BACKER ROD | ..
AND SEALANT 1 \
F2 ALUMINUM
EXTRUSION
PRODUCT REVISED
as complying with the Fiorida
Building Code
Acceptance No O t;ﬁ4i

Expirgtion Date §

W SCALE: 6"

=1

Sﬁnug on

v

\\\/.\\\ N

AN

5/8"
TO STUDS

w/ 8" x 1 5/8" BUILDEX

SCREWS @ 16" 0.C.

M2 ALUMINUM
EXTRUSION

\nz x 1 1/2" HWH TEK SCREW
16~ 0.C. (FASTEN TO STUDS)

\PLASTIC SHIM SPACE

(AS REQUIRED)

bs——————— 6" X 16 GA.

STEEL STUD

GALV.
16" 0.C.

7“3\ JOINT DETAIL

W SCALE: 6" = {’

— (5 PLY) PLYWOOD FASTENED

—_—

/ 9 istler McDougall

RW'S SPECIFIED
ENSIONS ARE 1N INCHES

FRAC“ONS
t 32 xx t 01
XK E 00s

TR
1t i

CONTRACT N« q .{(_6 /V Ay

/KMTSUBISHI CHEMICAL AMERICA, INC.

E

APPROVALS TATE

MATERIAL
4MM & 6MM ALPOLIC
& 4AMM ALPOLIC/:
FINISH

TIRAWN

G Ry

FRITTGMT

ALPOLIC and ALPOLIC/fr
COMPOSITE WALL PANEL SYSTEMS
SIZE | CAGE CODE BWG NO, REV
B I P 1

DO NOT SCALE DRAWING

PRODUCTION

SCALE_SHOWN] [sweer 4 OF 10




THE WOOD BUCK FRAME DETAILED IN THS DRAW!NG/

IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED .
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

6" X 16 GA
GALY. STEEL STUD
16" 0.C.

F12 x 1 1/2° H#H TEK SCREW
16" 0.C. (FASTEN T0 STUDS)

|-| /— SHIM AS REQUIRED

—+——

5/8" - (5 PLY) PLYWOOD FASTENED TO STUDS
#/ 8 x 1 5/8" 9-12 BUILDEX SCREWS 0C.

AN

Juisi|

et A2 ALUMINUM

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16" DIA. LAG BOLTS

DOW CORNING $795 SILICONE
SEALANT & 3/4” DIA OPEN CELL
BACKER ROD (TYPICAL)

EXTRUSION ul1N/4'
L1 ———T "
_5 -
= !
1 Y
2 f— \ 4MM OR BMM ALPOLIC
OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

$10 x 1" HWH TEX SCREW
16" 0.C. TYPICAL EACH PANEL

/ 4\ DETAIL
@ SCALE: 6" = 1’

CENTERLINE OF
METAL STUD

" CENTERUNE OF
PANEL. JOINT

6" x 16 GA
GALY. STEEL STUD
16" 0C.

AN

— §12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)
5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
SHIM AS W/ & x 1 5/8° 60 BUILDEX SCREWS 16" 0.C.
ﬂ /  REQUIRED
g

N2

IJLL%—\__: F2 ALUMINUM

— EXTRUSION
2 14 M2 ALUMINUM
MIN, exarusoN N | /\E'_ ?
/—GH 5] El HE— "
N

£10 x 1" HWH TEK SCREW
167 0.C. TYPICAL EACH PANEL

PRODUCT REVISED

as complying with the Florida
Building Code
Acceptance No
Expirgtion Date ©

Division

_}}4
Vu %

—of 1/2° fa—

DOW CORNING §795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

Kistler McDougall

esoemnoes 0% “U\ L-~TITSUBISHI CHEMICAL AMERICA, INC.

Oy —
FRACTIONS ~ DECIMALS ~ ANGLES [ ==~

<t 1
P e s TR APPROVALS DATE

MATERIAL ) DRAWN * ALPOLIC and ALPOLIC/fr
LA feme————{ COMPOSITE WALL PANEL SYSTEMS
FINSH i
IeROTHGWT SZE | CAGE CODE DWGNO. REV
FRODUC TION B bl !

DO NQT SCALE DRAWING

SCALE_SHOWN| sweer 5 OF 10




HS
1.500
750 | .7%0
l SYM.
; !
C D
.093 l \ruu. R®
_’i .125
1.608 !
1.688 |
-063 ! 125 R®
L & 7
I — U | U
.080 | .250
BREAK CORNERS .015 R
EXCEPT AS NOTED
ACTUAL SIZE
DIE _DATA
EST. AREA: .430 DIE SIZE: 6
EST. WEIGHT: .516 NO. HOLES: 1
EST. PERL: EXT. LENGTH: 5 1/8" = 1 @ 35’
FACTOR: R/R:

HR
1.600
250 1.080
~
938 688
2.125
- ¥FULL P
BREAK CORNERS .015 R
.090 TYPICAL METAL THICKNESS
ACTUAL SIZE
DIE DATA
EST. AREA: .465 DIE SIZE: 6
EST. WEIGHT: .558 NO. HOLES: 1
EST. PERL: EXT. LENGTH: 5 1/8 = 1 @ 36’
FACTOR: R/R

[ 1.500 |

1.770

\— 031 RO

EST. AREA: .317

EST. WEIGHT: ,380

BREAK CORNERS .010 R

.100 WALL THICK TYPICAL
ACTUAL SIZE

PRODUCT REVISED

as complying with the Flerida
Building Code
Acceptance No O]
Expiration Date

DIE_DATA Division
DIE SIZE: 6
NO. HOLES: 1

EXT. LENGTH;
R/ /@/% 1 @ 53
. alké r McDougall

" ORK-C | MIPSUBISHI CHEMICAL AMERICA, INC.

APPROVALS DATE

FINISH

MATERIAL
4MM & 6MM ALPOLIC
& 4MM ALPOLICH: ENGINEERING

CREAN ALPOLIC and ALPOLIC/fr
] s e COMPOSITE WALL PANEL SYSTEMS

PROJ MG SIZE | CAGE CODE WG NO. ReV
B 1 0
PRODUCTION

DO NOT SCALE DRAWING SCALE ] fseer 6 OF 10




1.500

562 |.18s 750

063 R
094 R .
- ﬁg\ NE C
¥ 1 v X
’ T ) LY
' 030 Ry t \-030 R 031 R
.063 | e
094 R
1.440% |
cRITICAL l 1.377
1.251*
CRITICAL i
| [Lazs
6875 6875
ACTUAL SIZE
BREAK SHARP CORNERS .005 R
DIE DATA
EST. AREA: .275 DIE SIZE: 6
EST. WEIGHT: .330 NO. HOLES: 1
EST. PERL: 5.831 EXT. LENGTH: 4 1/2 = 1- 46’
FACTOR: 18 R/R: 5 1/8" = 1- 62'

2.438

.688 250

®
.100 .090

EST. AREA: .484

EST. WEIGHT: .581
EST. PERL: 9.900
FACTOR: 17

DIE SIZE: 6
NO. HOLES: 1
EXT. LENGTH: 5 1/8 =134’

I _ |
i
& S‘K -276
N, D
\ 063 \l\
P 078 R. A
031 R. 6 PLACES 1.176
125 .750 375 .500
ACTUAL SIZE
BREAK SHARP CORNERS .010R
PRODUCT REVISED
as complying with the Florida
Building Code
Acceptance No 0

Division

-1~ Kigtler McDougall

CONTRACT NO.

 Eres 4% fﬂ/meSUBISHI CHEMICAL AMERICA, INC.
FRACTIONS LS
* .);;X: '&‘75 £ APPROVALS
L RS N E— ALPOLIC and ALPOLIC/fr
R APOLGR e — COMPOSITE WALL PANEL SYSTEMS
FINISH o
(TR WINT REV

SIZE | CAGE CODE DWGNO.
B l | 1

PRODUCTION

DO NOT SCALE DRAWING

0

SCALE | Jsieer 7 OF 10




15'-0 1/2"

NOISNIWIO JAISNI JNvdl4

RV

2/l

G-G

NOISNINIQ 3QISLNO JNvy S

R4

/1

8-G

IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

THE WOOD BUCK FRAME DETAILED IN THIS DRAWIN

&) = w
el2| E[F
Q d - N @©
203152 [0
alg | 39 :
XIS | Om |4 M
o< oz | <
Iz | =&
; = 18] 23
< |2, — :M._ © Aln_
_ o\ & M ERIEEER:
— <) a [ Jw g
o | O =
_ M
‘ w
||||||||||| b i R | SR
% 11 1 @) 5 w
< | N RO S | | m O Hxl}
......... e SSETT
1 i z =
il [ ] qul‘w =
] 5|
1 ] g g
1 11 5 5 g |
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII 3] & z 13 12
lllllllllllllllllllllllllllllll £ <iz 12 |2 Ig
FF H P ||t R
b b 5 2 22
11 il -
| | [ ;
' i BY 3..| 55 5
|||||||||||||||||||||||||||||||||| P
=S | R %% ||||||| _# |||||||||||||||||| L g
o 11 (I 08z EE (223 8
2] gek 3. |E5 )3
g ; _ ; _ EEetT 5 2
| = 11 1
NB 11 1
L ™
"R | N I S—
<  \br0 Trr T T T (i e | D | 5
a 11 [ =
| | g2
]
b 1 mm .,00
11 1 n2 08 X
%2828 {0
._._u _n_ H5E08e =
|||||||||||||||||||||||||||||||||| Umgm.m Ao
lllllllll L e ] =] e O
o e CESRENE:
O 8= 3& mux
5 ZoBgR =3z
5 - Eakdd &=D
s =4 11 [
w 2] 1 )
= z
RS | |
m N m lllllllll Tt —————— I~ — —— — — e —— e — — — — ]
2] -l | |- e —— ] =
3 7|2 | || o
o | = —_—
== — 1 1
AMn _W._ 1 i W =
= = = A
e & || | 7 =5
1) | DO | A | % E !
- T T T T T T T T T R | o L ~=
IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII O i
:| |j L =,
Anw :‘ﬂ“v __Aﬂ“v m%v va e
| | L
I i Pt N
lllllllll e ] A
b 1
1 o
1 1
(I ) .
. | I 1 N I et | | =
I bl = .
L || 53
I [ ——— 5 E——— Hem e —gf——-———— =
\\u P 1 <L
1 [ [ 50 <o
|||||||||||||||| S N A7 | IR | ©0®
.l e e ot e | =
t
& [ 1
2 O R_/I_ ! R_/L i / b
= | W o Z L LJ N N
JEE = |l 2 |l
w~| 2 - L bl L 11
— =z b I L 11
g 39 5 G i
Z O | el __ AI\ IIIIIII _I_ IIIIIIIIIIIII ]
a =Ee (- __ ]
o i1 11
'z i 1
|
= nﬂl mw :N\F
o~
~— V
W=l d-d J-0 NOISN3INIQ
2/ NOISN3NIG TINVd 7/, 3NV
-¢ :*I-F




#12 X 1 1/2° HWH WOOD SCREW
016" 0.C. TO MAIN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16" DIA. LAG BOLTS

ATTACH EACH STUD TO TRACK
W/ $12 x 1 1/2" 1M
TRAXX 3 BUILDEX' SCREWS
WO (2) €A SIDE

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL

BACKER ROD (TYPICAL)

i

1/

—

tp— 1"
f10 x 1'H\VHTEKSCREW—/

16 0.C. TYPICAL EACH PANEL

y
4MM OR GMMALPOUC—/

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE

2

PANEL

CAY-1012
STIFFENER

ATTAGH STFFENER T0 PERMEER —— |

EXTRUSIONS ON EACH END WITH
$10 x 1° HWH TEK SCREW

DOW~CORNING *1199 —/

SILICONE SEALANT

CAY—1013/

RETAINER

14

1y
MIN.

ft————— 27

| I Y/ L YT p——

:P(\

N

= )

A

ft—— 6" X 16 GA

A\

_SKT; <
12 x 1 1/2" HWH TEK SCREW
16" 0. (FASTEN T0 STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

CAY-1009 TEE
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

GALY. STEEL STUD

16" 0C.
@ DETAIL
9 SCALE: 6" = 1'

AN

[<—— GALV. STEEL STUD

AN

5/8" — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ #8" x 1 5/8" BUILDEX

SCREWS @ 16" 0.C.

$12 x 1 1/2° HWH TEK SPACE
16" 0.C. (FASTEN TO STUDS)

_—— PLASTIC SHIM SPACE

(AS REQUIRED)

6" X 16 GA

16° 0C.

/ 27\ STIFFENER DETAIL

/

w SCALE: 6" = 1

THE WO0OD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

CAY—-1011 MALE
ALUM. EXTRUSION

2 1/

SHOP ATTACHED
TO PANEL (TYP.)

$10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

MIN

TO STUDS
W/ 8" x 1 5/8" BUILDEX
SCREWS @ 16" 0.C.

)

LN

BACKER ROD
AND SEALANT 1

CAY-1010 FEMALE

sans

ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

PRODUCT REVISED

as complying with the Florida
Building Code

Division

ANV AN

ANN

\m x 1 1/2" HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

\ PLASTIC SHIM SPACE

(AS REQUIRED)

tt——————— 6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

7“3\ JOINT DETAIL

\9_/ SCALE: 6" = 1

5/8” — (5 PLY) PLYWOOD FASTENED

7

RCHITECTURAL PRODUCTS

9-( ¢ ‘Ci,/wsﬁslsm CHEMICAL AMERICA, INC.

corarioe
UNLESPOTHERWISE SPECIFED 'CONTRACT NO.
DIMENSIQNS ARE IN INCHES
TOLERANC] :
FRACTIONS DECIMALS PRg ™Yo s,
- W A APPROVALS DATE
MATERIAL DRAWK
4MM & 6MM ALPOLIC
& 4MM ALPOLIC/fr ENGINEERING
ST Ms | 11102
PROJMGMT
DO NOT SCALE DRAWING PRODUCTION

ALPOLIC and ALPOLIC/fr

COMPOSITE WALL PANEL SYSTEMS

SIZE | CAGE CODE DWG NO. REV
B P 1

SCALE SHOWN'

9 OF 10

[ sreer




THE WOOD BUCK FRAME DETALED IN THIS DRAWING/

FOR TEST PURPOSES ONLY AND IS NOT INTENDED
A

5
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION,

6" X 16 GA
GALY. STEEL STUD
16" 0C.

F12 x 1 1/2" WWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

” SHIM AS REQUIRED

24—

5/8" - (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8" 9-12 BUILDEX SCREWS 0.C.

AR

T
7 —r

CAY—1009 TEE
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

r

2

e

- i
Y

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16" DIA. LAG BOLTS

DOW CORNING §795 SILICONE
SEALANT & 3/4° DIA. OPEN CELL

BACKER ROD (TYPICAL)

\muonsuumuc

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

fec—

10 x 1" HWH TEX SCREW
16" O.C. TYPICAL EACH PANEL

/ 4™\ DETAIL
10

SCALE: 6" = 1’

CENTERLINE OF
METAL STUD

CENTERLINE OF

PANEL JOINT

R 6" x 16 GA
- GALY. STEEL STUD
16° 0.C.

— 12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

5/8" ~ (5 PLY) PLYWOOD FASTENED TO STUDS

SHIM AS ¥/ 8" x 1 5/8" 6-0 BUILDEX SCREWS 16" O.C.

REQUIRED

AN

A

NN

SHOP ATTACHED
TO PANEL (TYP.)

|
7,

‘uﬁ:lj‘l CAY—-1010 FEMALE
p— ALUM. EXTRUSION
SHOP ATTACHED

2 e CAY—1011 MALE ———
MIN. ALUM. EXTRUSION

TO PANEL (TYP.)

IR

$10 x 1" HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

PRODUCT REVISED
as complying with the Florida
Building Code

Acceptance No©9-09273. 0 ¢
Expirgtion Dateg 8 / © € i

Division

1/2° —=

DOW CORNING §795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

FRACTIONS

5 et~
t 12 XX b %oz

E / mRCHITECTURAL PRODUCTS

4G -C |__MFSUBISHI CHEMICAL AMERICA, INC,

N
WY CONNACT ND.

ot oo APFROVALS oATE
e e ALPOLIC and ALPOLIG/r
RMMAPOLER © fommme——1-——1 COMPOSITE WALL PANEL SYSTEMS

FINISH

PROJMGMT

DO NOT SCALE DRAWING

PRODUCTION

SIZE | CAGE CODE DWGNO.
B ] l 1-p

SCALE_SHOWN]

REV
1

[sHEET 10 OF 10




